
PAMAPIC 
Outdoor Sec�onal

OWNER’S MANUAL

Thank you very much 
for purchasing our Outdoor sectional.

If you have any ques�ons,
please contact customer service:
E-mail: Pamapic@hotmail.com.

Facebook: @Pamapic.Official





Safety precautions

WARNING!

CAUTION

ATTENTION

��������������������������������������������������������������
������������������������
������������


������������	�����������������
���������������������������
�����������������������
��������������������

������������������������������������������������������������������
��������������
��

������������������������������	�������������	�����������������������������������
�������������������	����������������������������������������������

������������	���������������������������������������������������������������������������	�

���������������������������������������������	����������������������������������������
����������


�����������������
������������	���������������������������	�����������������������������
�������

��������������������������
����
����������������������� ­������������
�����������������
��������������
����������������������������

�����	�����������������������������������������������

�����������������������������������������������������������	������	��

�����	�����������������
��������������
����������������������
����������������������������
����������������������	���������������������������������

����������������
�������������������������	����������������������������	���������������
����
����
��������������������������������������������������������������������	�

������������������	����������������
������������������������������������������������������
������������������������������������������������

��������������������������������������������������������������������������������������
����������������
����������������


�������������������������������������������������	��������������������������

���������������������������������
��������
������������
�����
�
�����������������������������
�����������

�



���������������������������������������������������������������������������������
����������������������

�

a9

a5

Instructions

Parts

Number

Rattan sofa seat

Step1 Step2

a1

a7

a3

a6

C2

C1

C3

a3

a3

a1
a1

a1

a9

a10

a10

a9

x 2

a5

a5

NOTICE: Please repeat step 1 and 2 to build another armless sofa.

2PCSC1

2PCSC2

2PCSC3

M6  12/PC

a6
M6*45  8/PC

a1

1/PC

a12

M6 8/PC

a7

M6*35  4/PC

a3

M6 1/PC

a13

4/PC

a9

M6*25 16/PC

a5

4/PC

a10



 

Instructions Rattan sofa table

 glass

a9

a5

Step1

D2

D1 D3

a3

Step2

a9

a9

a9
a5

a9

Number

x 1
Parts

1PCSD1

1PCSD2

1PCSD3

1PCSD4

M6  5/PC

a6

M6*35  5/PC

a3

4/PC

a9

M6*25 8/PC

a5

D4

a3

a3

a3



�

C:

D:

C C

D

C CD

Combination

Three-piece
1

2



If you have any ques�ons,
please contact customer service:
E-mail: Pamapic@hotmail.com.

Facebook: @Pamapic.Official



PAMAPIC 
Outdoor Sec�onal

OWNER’S MANUAL

Thank you very much 
for purchasing our Outdoor sectional.

If you have any ques�ons,
please contact customer service:
E-mail: Pamapic@hotmail.com.

Facebook: @Pamapic.Official





Safety precautions

WARNING!

CAUTION

ATTENTION

��������������������������������������������������������������
������������������������
������������


������������	�����������������
���������������������������
�����������������������
��������������������

������������������������������������������������������������������
��������������
��

������������������������������	�������������	�����������������������������������
�������������������	����������������������������������������������

������������	���������������������������������������������������������������������������	�

���������������������������������������������	����������������������������������������
����������


�����������������
������������	���������������������������	�����������������������������
�������

��������������������������
����
����������������������� ­������������
�����������������
��������������
����������������������������

�����	�����������������������������������������������

�����������������������������������������������������������	������	��

�����	�����������������
��������������
����������������������
����������������������������
����������������������	���������������������������������

����������������
�������������������������	����������������������������	���������������
����
����
��������������������������������������������������������������������	�

������������������	����������������
������������������������������������������������������
������������������������������������������������

��������������������������������������������������������������������������������������
����������������
����������������


�������������������������������������������������	��������������������������

���������������������������������
��������
������������
�����
�
�����������������������������
�����������

�



Warranty Coverage Requirements:

��������������������
���������

����������������������������	������������

�������
�������������������������������������	��������������

����������������������������	����������������������������������� ������������������������
������������������������������	�

HARDWARE

PARTS

M6

�����

a6

M6*45

�����

a1

M6

�����

a7

M6*35

�����

a3

����

a12
M6

����

a13

�����

a9

�����

M6*25

a5

����

a10

����

M6*110

a2

����

M6*4

a8

�����

a11

M6*20

����

a4

����

���������
������ ���������
�����
��
	�������
�������

��������
����������
�

������������

��������

����

������������

����

��������������

����

�

of 7 pieces outdoor sectional

of 7 pieces outdoor sectional



 

���������������������������������������������������������������������������������������

Number

 Corner A&B
Instructions The corner of rattan sofa

Parts

1PCSA1

1PCSA2

1PCSA3

1PCSA4 1PCSB2

1PCSB31PCSB1

M6  14/PC

a6

M6*45  14/PC

a1

1/PC

a12

M6 14/PC

a7

M6 1/PC

a13

8/PC

a9

M6*25 16/PC

a5
M6*110  2/PC

a2

M6*4  2/PC

a8

M6*20 2/PC

a4

Corner A（Adjustable） Corner B

x 1 x 1



�

 Corner A
Instructions The corner of rattan sofa

Step1

Step2

A4

a4

a4 a4 a8

A1 A2

A3

a2

a1
a1

a1

a1a1

a1

a7

a8

a2



­

Step3

a9

a5

a9

a9

a9
a5

a9

 Corner A
Instructions The corner of rattan sofa

Adjustable

Seat cover

Buckle the hook  on the 
back of chair



�

 Corner B
Instructions The corner of rattan sofa

Step1

Step2

B2 B1

B3

a2

a1 a1
a1

a1a1

a1

a7

a8

a2

a5

a9

a5



�

Armless sofa a11

A BC C
C
C D

If you want to lie on this sofa set, there are two ways for your reference.

Lift up

B AC C
C C

D

Lift up

Supplementary Instructions

a11

It's available to adjust foot height 
through leveler regarding ground 
condi�on to keep sofa in balance. 
Loosening the leveler will raise 
the leg, and �ghtening the leg 
will lower it.

Use · ten part 5 clamps(7 pieces)
        · six part 3 clamps (5 pieces)
to secure chairs and corner chairs together to 
form the sec�onal. Use two clamps per sec�on, 
where chairs meet together.

There is an elas�c band on the cushion 
of armless sofa, which can be used to fix 
the cushion to the sofa.



�

C:

D:

C C

D

C CD

Combination

Three-piece
1

2



�

Combination

Five-piece
1

2

A B

CC D

A C B
CD

C:

D:

A:

B :
(Adjustable)



��

Combination

Seven-piece
1

2

A BC

C C C

D

A BC
C C

C

D
C:

D:

A:

B:

(Adjustable)



��

Combination

Seven-piece
1

2

A BC

C

C

CD

A BC C

C C

D



If you have any ques�ons,
please contact customer service:
E-mail: Pamapic@hotmail.com.

Facebook: @Pamapic.Official



PAMAPIC 
Outdoor Sec�onal

OWNER’S MANUAL

Thank you very much 
for purchasing our Outdoor sectional.

If you have any ques�ons,
please contact customer service:
E-mail: Pamapic@hotmail.com.

Facebook: @Pamapic.Official





Safety precautions

WARNING!

CAUTION

ATTENTION

��������������������������������������������������������������
������������������������
������������


������������	�����������������
���������������������������
�����������������������
��������������������

������������������������������������������������������������������
��������������
��

������������������������������	�������������	�����������������������������������
�������������������	����������������������������������������������

������������	���������������������������������������������������������������������������	�

���������������������������������������������	����������������������������������������
����������


�����������������
������������	���������������������������	�����������������������������
�������

��������������������������
����
����������������������� ­������������
�����������������
��������������
����������������������������

�����	�����������������������������������������������

�����������������������������������������������������������	������	��

�����	�����������������
��������������
����������������������
����������������������������
����������������������	���������������������������������

����������������
�������������������������	����������������������������	���������������
����
����
��������������������������������������������������������������������	�

������������������	����������������
������������������������������������������������������
������������������������������������������������

��������������������������������������������������������������������������������������
����������������
����������������


�������������������������������������������������	��������������������������

���������������������������������
��������
������������
�����
�
�����������������������������
�����������

�



����������������������������������������������������������������������������������������

�

a9

a5

Instructions

Parts

Number

Rattan sofa seat

Step1 Step2

a1

a7

a3

a6

C2

C1

C3

a3

a3

a1
a1

a1

a9

a10

a10

a9

x 2

a5

a5

NOTICE: Please repeat step 1 and 2 to build another armless sofa.

2PCSC1

2PCSC2

2PCSC3

M6  12/PC

a6
M6*45  8/PC

a1

1/PC

a12

M6 8/PC

a7

M6*35  4/PC

a3

M6 1/PC

a13

4/PC

a9

M6*25 16/PC

a5

4/PC

a10



If you have any ques�ons,
please contact customer service:
E-mail: Pamapic@hotmail.com.

Facebook: @Pamapic.Official


